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an B A =iE 15 B B ={E 5 B B A 15 Ei i
B% 94,300 120 67 HRAZYY 29,103 220 58 57 7,499 350 156
=Y 28,650 115 53 Abvo 31,130 90 39 EvVLUR 5,060 200 86
FH(the) 3,040 80 46 RA—F A (O XFT—A) 31,850 80 35 SFoFa5R 16,033 380 74
AFL—%(A) 20,050 80 42 ABA—F X (TBIR) 120 135 121 oyt —4 800 250 150
ATL—% (&) 8,900 75 34 FILIT(=a—L 7,355 350 117 a1 (FDith) 135 186 90
ATL—% (ih ) 88,870 90 36 FLafSE 22,715 350 154 <)—3—)LK 120 70 62
N (A) 13,760 45 30 TUR) DL 472 200 126 FoUH A 5,190 220 101
INGG () 21,050 45 25 H—RS 34,130 100 25 ALLT 1,440 300 144
NG (FR) 14,450 45 33 Fo¥avmn 14,025 200 48 VBT LA 2,492 800 230
INg (fthfe) 55 200 200 hLooas 4820 25 14 FoI7L 14,750 150 27
STDA—=(R) 10,773 80 43 HLETRE— 450 80 64 J7LI/TOR 1,529 700 382
STDA—=(F]) 4741 80 41 AL 280 30 10 IETURS A 988 300 168
STDh—= (FF) 15,834 80 24 Af—rE— 73,540 70 27 T RINTGHA 435 200 33
STDA—2(E>%) 15,076 80 36 +T5a 2,360 90 37 TLhvy 3,020 40 22
STDA—=R(FL D) 7,467 80 34 EDTE 8,690 50 17 J1=v9R 1,000 45 26
STDA—R(F1)—) 7,766 80 41 VEDY 830 65 33 EARATD 1,990 120 34
STDA—= () 17,334 80 37 RIAL—RTTT— 3,170 70 43 LY —D7> 9,640 55 26
STDA—= (i f2) 6,536 150 66 TI—L—RITS5T— 270 80 43 T 650 45 31
SPA—x(H) 3,844 75 42 TNNIVTAT 2,890 80 53 INDY 3,630 60 16
SPhH—x (&) 3,093 75 46 RIS WA 940 220 105 K A 800 20 14
SPH—*(JR) 14,897 55 24 HoRh 130 30 30 JLRAAR 5,400 60 27
SPh—+(E>%) 36,640 85 25 ANEFY 3,230 75 54 A4oarmh 470 30 21
SPA—R(FL D) 4214 70 35 o —Famy 1,800 20 17 —aoyA5y 835 40 25
SPH—HR(J1)—) 2,637 70 35 Y)ET))ERE— 9,820 85 28 a—Ah) 4,515 250 81
SPhH—x(#Ef) 34,498 70 23 ity 1,270 70 57 KS>t+ Ik 4,390 40 12
SPA—x({thfa) 5,610 90 4 NT— 9,162 120 61 IS 3,210 55 35
STD/\S(H) 7,675 180 82 hE— 2,560 15 12 INRSUDT 1,052 700 318
STD/\S(#) 9,625 160 54 <N)AIT 1,080 90 58 i3 194 1,200 242
STD/\Z () 20,301 200 75 TJTLIIVL 2,160 120 59 5 1,423 4,000 227
STD/N\S(E>Y) 25,568 230 62 TJIL—RE— 1,990 150 69 Y 2,874 1,200 33
STD/\S (%) 2,577 170 72 Tyl 4,190 110 57 Ev ¥ 11,900 90 28
STD/N\S (FLP) 7,305 170 67 AATal) 1,600 110 60 FRE 230 200 100
STD/N\S (Bf) 2,390 160 51 I AR 23,324 700 169 EXUAL 4570 110 49
NS (AT )y an—X) 80 120 60 a')(LA) 6,240 110 67 AT (FAE—) 1,825 120 49
STD/\S ({h ) 6,647 420 60 2)=7F 13,430 60 33
SP/AZ(H) 1,710 160 68 J5TUFHSR 3,810 75 33
SP/\S (#) 1,920 200 93 ho— 4,200 360 70
SP/\Z (FF) 1,915 280 86 Fa—)vS 25,150 110 44
SPINS(EVY) 4938 180 84 TILARAA)TF 17,615 150 55
SPINS(FL2Y) 2,096 180 82 TA)A 2,350 55 38
SP/\S (i) 1,750 180 87 ALt 4,430 80 34
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